Guided Notes - Genetics Basics & Mendelian Genetics

Genetics Basics
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When sex cells/gametes unite in fertilization, they become ﬂ, } }dl g / f/ . This creates
a zygote with of each kind of chromosome.
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Practice Problem
1. Tall pea plants (T) are dominant to short pea plants (t). Show a cross between a heterozygous tall pea
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a. What are the genotypic ratios?
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b. What are the phenotypic ratios?
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2. Tall pea plants (T) are dominant to short rﬁglants (t). Show a cross between two heterozygous tall
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a. What are the genotypic ratios?
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3. Tall pea plants (T) are dominant to short pea plants (t). Show a cross between a heterozygous tall pea

plant and a homongng s_[tall pea plant. 6 ) @ 7—- 4__
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b. What are the phenotypic ratios?
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